



StudentName: \_\_\_\_\_

ExamDate: \_\_\_\_\_ ExamScore: \_\_\_\_\_

$$793,3 \times 10^{(-3)} =$$

$$553 \div 10^{(-4)} =$$

$$10^{(-2)} =$$

$$799,7 \div 10^{(-1)} =$$

$$10^{(-4)} =$$

$$822,6 \times 10^{(-3)} =$$

$$10^{(-3)} =$$

$$-1 \times 10^0 =$$

$$7 \times 10^0 =$$

$$397,7 \div 10^{(-2)} =$$

$$10^{(-4)} =$$

$$167,5 \div 10^{(-2)} =$$

$$503,6 \times 10^{(-4)} =$$

$$10^{(-4)} =$$

$$-1 \times 10^{(-2)} =$$

$$853,9 \div 10^{(-4)} =$$

$$10^{(-1)} =$$

$$10^{(-4)} =$$

$$759,8 \div 10^{(-4)} =$$

$$9 \times 10^{(-3)} =$$